
2 H2 + 1 O2 → 2 H2O

2 1 2
kmol H2 kmol O2 kmol H2O

2* 22,4 1* 22,4 2* 22,4

kmol H2 m
3 H2/kmol H2 kmol O2 m3 O2/kmol O2 kmol H2O m3 H2O/kmol H2O

2* 2 1* (2*16) 2* (2*1)+16

kmol H2 kg H2/kmol H2 kmol O2 kg O2/kmol O2 kmol H2O kg H2O/kmol H2O

CH4                                       + 2 O2 → CO2 + 2 H2O

1 2 1 2
kmol CH4 kmol O2 kmol CO2 kmol H2O

1* 22,4 2* 22,4 1* 22,4 2* 22,4
kmol CH4 m

3 
CH4/kmol CH4 kmol O2 m3 O2/kmol O2 kmol CO2 m3 CO2/kmol CO2 kmol H2O m3 H2O/kmol H2O

1* (12+(4*1)) 2* (2*16) 1* (12+(2⋅16)) 2* ((2*1)+16)
kmol CH4                              kg CH4/kmol CH4 kmol O2 kg O2/kmol O2 kmol CO2 kg CO2/kmol CO2 kmol H2O kg H2O/kmol H2O

C2H6                                      + 3,5 O2 → 2 CO2 + 3 H2O

1 3,5 2 3
kmol C2H6 kmol O2 kmol CO2 kmol H2O

1* 22,4 3,5* 22,4 2* 22,4 3* 22,4
kmol C2H6 m

3 
C2H6/kmol C2H6 kmol O2 m3 O2/kmol O2 kmol CO2 m3 CO2/kmol CO2 kmol H2O m3 H2O/kmol H2O

1* ((2*12)+(6*1)) 3,5* (2*16) 2* (12+(2⋅16)) 3* ((2*1)+16)
kmol C2H6                              kg C2H6/kmol C2H6 kmol O2 kg O2/kmol O2 kmol CO2 kg CO2/kmol CO2 kmol H2O kg H2O/kmol H2O

C3H8                              + 5 O2 → 3 CO2 + 4 H2O

1 5 3 4
kmol C3H8                         kmol O2 kmol CO2 kmol H2O

1* 22,4 5* 22,4 3* 22,4 4* 22,4
kmol C3H8                              m3 C3H8/kmol C3H8 kmol O2 m3 O2/kmol O2 kmol CO2 m3 CO2/kmol CO2 kmol H2O m3 H2O/kmol H2O

1* ((3*12)+(8*1)) 5* (2*16) 3* (12+(2×16)) 4* ((2*1)+16)
kmol C3H8                              kg C3H8/kmol C3H8 kmol O2 kg O2/kmol O2 kmol CO2 kg CO2/kmol CO2 kmol H2O kg H2O/kmol H2O

CxHy                              + (x + y/4) O2 → x CO2 + y/2 H2O

1 (x + y/4) x y/2
kmol CxHy                         kmol O2 kmol CO2 kmol H2O

1* 22,4 (x + y/4) * 22,4 x * 22,4 y/2 * 22,4
kmol CxHy                              m3 CxHy/kmol CxHy kmol O2 m3 O2/kmol O2 kmol CO2 m3 CO2/kmol CO2 kmol H2O m3 H2O/kmol H2O

1* ((x*12)+(y*1)) (x + y/4) * (2*16) x * (12+(2×16)) y/2 * ((2*1)+16)
kmol CxHy                              kg CxHy/kmol CxHy kmol O2 kg O2/kmol O2 kmol CO2 kg CO2/kmol CO2 kmol H2O kg H2O/kmol H2O
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Spalování vodíku H2                       

44,8 22,4 44,8

4

Spalování metanu CH4                         

22,4 44,8 22,4 44,8

32

kg H2 kg O2 kg H2O

  m3 H2 m3 O2           m3 H2O

78,4 44,8 67,2

m3 CH4 m3 CO2 m3 H2Om3 O2

22,4

kg CH4 kg O2

Spalování etanu C2H6            

kg C2H6 kg O2 kg CO2

16 64 36

kg CO2 kg H2O

44

Spalování propanu C3H8                         

30 112

m3 C2H6 m3 O2 m3 CO2

88

m3 H2O

m3 CO2 m3 H2O

89,667,2

kg H2O

54

22,4 112

m3 C3H8 m3 O2

44 160 132 72

m3 CO2 m3 H2O

Spalování CxHy                         

m3 CxHy m3 O2

kg C3H8 kg O2 kg CO2 kg H2O

kg CxHy kg O2 kg CO2 kg H2O


